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AR2FUSA(ZLUR) AL 210,000 70,000 140,000
& 63,000
Al 147,000
401 Al&HIZL 20| 210,000 70,000 140,000
& 63,000
Al 147,000
01 AlIEH| 210,000 70,000 140,000
EHe0tls o f=H =&
150,000,000& 150,000
= 45,000
Al 105,000
Galel FOIAE X4 30,000,0002 30,000
& 9,000
Al 21,000
sde| FeaEl &4 30,000,0002 30,000
= 9,000




SA AL
M FoISBEA
EPlr AR2=0I=SRAY (CHol: X 2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| Al 21,000
7.8~10. S U AHZ2BSAIE HolS2AH 270,000 0 270,000
= 175,234
Al 94,766
401 AIZHIZ 20| 270,000 0 270,000
= 175,234
Al 94,766
01 Al2Hl 270,000 0 270,000
244 SUITH SPSAHSE2I766) 200,000
= 150,058
Al 49,942
2449 SIS SFSAHS 4R 526-2) 70,000
= 25,176
Al 44,824
THoH XHt oflet 10,945,403 9,951,335 994,068
= 1,477,335
= 70,000
= 1,235,132
Al 8,162,936
otd &l 10,945,403 9,951,335 994,068
= 1,477,335
= 70,000
& 1,235,132
Al 8,162,936
ote=Al & B 656,000 671,000 215,000
101 QI24H] 37,000 37,000 0
04 JI2HN22HSE+ 37,000 37,000 0
old & aotd |Xl2el 37,000
201 er23| 109,000 97,000 12,000
01 Al 22| 77,000 77,000 0
2otd 2e|AA= 22 &4 2,000
otd & AoHe =Al2el 75,000
02 S5=4H| 32,000 20,000 12,000
ot & AGHe RXl2el 32,000
401 AIZHIZL S0 510,000 537,000 227,000
01 Al&H] 507,606 533,703 26,097
old & aotd |Xl2el 99,100
Had S8 S FAEx 40,000
AGHE(15700A) |RE4 49,550
A8 A 202X H ) 20,000
OEd M2 U2 FH| 29,676
SEE NYE2 ZHIA 40,000




SN 2
S THoH THEH ol
o2 ot& Jhl (cHol: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
UEA MMZ LR ZHAY 20,000
HRAGHE RAE ALY 40,000
2846t RAE> A 30,000
MEAGHE |RXIE= At 25,000
THLAGHE |RXE AHE 99,280
SitAotd |2 At 15,000
03 AIE=0HY| 2,3% 3,297 A903
otd & AGHE RX2el 900
ABHE (15700 A) KA+ 450
CHEE ARZ X2 HY| 324
ZHAOHE SAEx AHS 720
HESXI020 2 2B} +=+=2S(BEX) 2,857 2,857 0
= 2,000
Al 857
401 A EBIZ 20| 2,857 2,857 0
& 2,000
Al 857
01 AlIEH| 2,857 2,857 0
ZHEI =55 2,857
& 2,000
Al 857
MO AEH|(EX) (HEAN) 240,000 0 240,000
= 120,000
Al 120,000
401 AlEHIZL 08I 240,000 0 240,000
= 120,000
Al 120,000
01 Al&Hl 238,272 0 238,272
AlDAel Aot EHIAM 238,272
& 119,136
Al 119,136
03 AIESCHYI 1,728 0 1,728
AlDAel Aot EHIAM 1,728
= 864
Al 864
Keotd AAl SNES(EX) (HSAIY) 94,000 94,000 0
& 47,000
Al 47,000
401 Al&HIZ 20| 94,000 94,000 0
& 47,000
Al 47,000
01 AlEH| 93,154 93,154 0




S AL
S THoH THEH ol
el otd &l (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Kot &Al S22 93,154
= 46,577
Al 46,577
03 AIE=0HY| 846 846 0
Kot &Al FREx 846
& 423
Al 423
SIEAIEZ2 HUEA 2 FHI(BU)(EX)(HEA 243,000 243,000 0
= 121,500
Al 121,500
401 AlEHIZL 048I 243,000 243,000 0
= 121,500
Al 121,500
01 Al&H| 241,250 241,250 0
Xgotd Ald8 HYEZ L &Y 241,250
& 120,625
Al 120,625
03 Al 2204 1,750 1,750 0
XNgotd AldE Z2EE & E| 1,750
& 875
Al 875
XYotd StEHHl & 2He|(BX) (HEAIY) 600,000 600,000 0
= 180,000
Al 420,000
401 AlEHIZL 08I 600,000 600,000 0
& 180,000
Al 420,000
01 AlIEH| 596,220 596,220 0
XNotd St & 2el 596,220
& 178,866
Al 417,354
03 Al 2204 3,780 3,780 0
Xote ot=dHl L 2e| 3,780
= 1,134
Al 2,646
Xetold EIMEFH|(EX)(HEAY) 216,000 216,000 0
& 108,000
Al 108,000
401 Al&HIZ 20| 216,000 216,000 0
& 108,000
Al 108,000
01 AlEH| 214,446 214,446 0
Xote ElNE | 214,446
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<
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HEE

SA BB S2(3) - HIRAR - BAS Ofl ke e HI DS
& 107,223
Al 107,223
03 AIZ=0HI 1,564 1,554 0
Nt EXE JH| 1,554
= 7
Al 77
2-otd 3 320,000 290,000 30,000
401 AIZHIZ 20| 320,000 290,000 30,000
01 Al&H] 318,380 290,000 28,380
=8l40td HIAKE 20,000
Saaotd ZHlA 99,100
=40t oA 99,280
2 A0Hd HHIA 100,000
03 Al&€=CHH 1,620 0 1,620
SaAotd FHIA 900
8=A01E FHIAI 720
AGHE FHIAMY XE(23) (Al &) (HEAIY) 700,000 0 700,000
401 Al2BIXL 20| 700,000 0 700,000
01 Al2H| 697,480 0 697,480
2540t SHlA 697,480
03 Al&2CHH 2,520 0 2,520
2S40td HIAE 2,520
A0t FHIANE X (1) (ANTE) (M) 200,000 0 200,000
401 AlEHIL R 0HY] 200,000 200,000
01 Al&H] 198,782 0 198,782
Aot HHIAKE 198,782
03 Al&S2LHH 1,218 0 1,218
FlAgLotd YA 1,218
20t ADE AF2CALE 5 A 140,000 210,000 470,000
= 70,000
Al 70,000
401 Al2BIXL 20| 140,000 210,000 470,000
z 70,000
Al 70,000
01 Al&H] 140,000 210,000 70,000
20t AOLE HF2AC|AAY 2SAY 140,000
z 70,000
Al 70,000
U&EE RL6HE THoHS AR (XHAI) 3,500,000 500,000 3,000,000
401 Al2BIXL 20| 3,500,000 500,000 3,000,000
01 Al2Hl 3,000,000 500,000 2,500,000
HEd Xdotd Hat=+ At 3,000,000




SN 2
HB: T§oH AL Ol
chol: S& H| (CHol: xol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
02 el 500,000 500,000
HEd NLotd o=+ A ALAIE 2
clE4 500,000
2024.7.8.~10.2% Aotd Moll=+ At 1,549,839 1,549,839
= 774,919
Al 774,920
401 AIZHIZ 20| 1,549,839 1,549,839
= 774,919
Al 774,920
Al&8l 1,549,839 1,549,839
SEAGHE Mol=+ At 127,559
= 63,779
Al 63,780
HAASHE THH= 7 AtY 243,570
= 121,785
Al 121,785
SHHEASHE o=+ At 80,484
= 40,242
Al 40,242
3EAGHE M=+ ALY 175,734
= 87,867
Al 87,867
ANZ22/2otd THol=+ ALY 77,518
= 38,759
Al 38,759
A4 AGHE THoH=+ A 92,276
= 46,138
Al 46,138
MEAGHE MoHS+ At 133,453
= 66,727
Al 66,726
EfS Aot o=+ At 53,724
= 26,862
Al 26,862
AR AGHE THOH= -+ AHY 121,865
= 60,932
Al 60,933
4018 MollsS+ At 162,049
= 81,025
Al 81,024
HEAotd o=+ At 95,026
= 47,513
Al 47,513
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S - B S9I(E) - HRA Ofl ke Gl HI DS
A=2a0tE o=+ At 61,182
= 30,591
Al 30,591
STHAGHE MoS+ At 71,41
= 35,705
Al 35,706
Se Aot o=+ A 53,988
= 26,994
Al 26,994
XI5 THoH= A (20242 THOH) 1,359,048 0 1,359,048
= 702,416
& 656,632
401 Al2BIXL 20| 1,359,048 0 1,359,048
= 702,416
& 656,632
01 Al&H] 1,359,048 0 1,359,048
Held o= AE 123,648
= 73,002
S 50,556
S HoH=7AS 92,259
= 92,259
SHHE IHoH=ALS 240,898
= 106,173
LS 134,725
2= HoH=7AS 259,113
= 113,643
& 145,470
UH=sd MolSAE 259,744
= 145,832
& 113,912
Fud o= ALS 28,862
= 28,862
S THoH=SFA 250,751
= 142,555
LS 108,196
S HoH=AS 103,773
& 103,773
20t o=+ At 724,659 724,659
401 AIZHIZ 20| 724,659 0 724,659
01 Al2Hl 724,659 0 724,659
420t o=+ Al 24,000
HAEa0He ol AL 24,000
gsaokd ol Al 36,000
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Faf=i,
TH
[¢]

2AM:
R EH -

(=R ]

[0d
K]
OH
[l

-

KIo

Hlw

400,000
400,000
400,000

N2,708
A2,708
2,708
A2,658

A58

22,600

dEE
Ofl &b oK

63,208
63,208
63,208
43,258
31,058

12,200

26,000
20,000
14,000
25,000
40,000
46,000
70,857
62,533
42,000
26,000
73,540
67,964
33,000

15,000
63,765
15,000

400,000
400,000
400,000
400,000

60,500
60,500
60,500
40,600
31,000
22,000
9,000
9,600
9,600
15,000
15,000
15,000
4,200
4,200
4,200

S

RE

- EH9I(B1H) - HISAIY

=L

A

e

M= Al
[ =D Al

e s s

D= 20tE o= 7 AR

110
<
i0J

t

02 Zeldl

401 AIE0IZ 20

750,000+ 122

01 AtR2te|H]

=3

30
W
H0
H0

0

A50
A50

15,000
15,000
4,200
4,200
750
750

700
700
700

800,000& 122
1,250,000 «12&
350,000+ 122

01 Z2LH4YI
M =LWod
FE S|

202 044l
405 Xt




